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measuve of the feafing effect of the wave 
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That means the RMS value of a sîne Wavesequal to the 

P Votaqe tha piodutes the same hating effect 
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Deive the EMF equatiorn of a DC qenevatov 
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move than one s0umces, the total amourt cumert or 

Voltage tn a ptl of a netwdlk is equal to the 

alqe brai c Um the cuentti ov oHages in he 

vequived binch with each souce acting îndvidually while 

other Aousces ane veplaced By 4fetr ideal intenal veislonag 
is Called Super postion theaber. 
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Eplan the pîneiple of openalior of Dc qmexald vith 

heal diagam 

D.c Generoato inciple 

n electricc, qauatá is a machine that converls mechonica 

enerqy into electical enegy In elecic geneieBor is Base 

on the piple hat wheneve hn is cut by a Conductol, 

On em is tndced which will cause a Cent to flovd 

i 4he Conducla Crcit s closed. The dreckon of 
inducec emf Cand hence cuuent) s qiven Ey Flemings iqit 
hand 1e, hevefde, the essertial coriponerits of a qenevato 
aAe :(a) a maqnetic -fed B) cond uctd or a gloup of coyduton 



)molior of condelá 0 7 magnelic fteld 
Considev a single tun Gop A BCD Tolating Clockwie în a 

unifor m magnelit fteld wilh a constant apeed as AMoun 

in g ) he loop 1otales. the ffur nkig the col side 

AB and CD chanqes conltnusush. 

Hence the em inducec în these 
Cols sices also charges but the emf 

5 inchucedl in one col side adds to 

thai in other 
fa1) 

When the loop in poston no-) Me figC1), the qeneraled
em s zeo because the coil sides (AB andco) and cutting no 
Fhu but ase moving paallel to t. 

) When the loop tn pesítton no-2, the coilaides aue moviry 
at an angle to the -hux and theefde, a low ef qeneuatei 
a indicaled y poînt 2n fg C12). 
Wher -he loop is în position ro:3 ,the c6l sides (nBandco 
ae cl icft anqle to the -fho and aue, thenesoie, ctiro 

the -Jhur at a maimui rate. tlence al this instant 
the qenealecl emf i manümum as mdicaled By oirzt 
3n q () 

iv) A posthon 4, the genexaled 
-One Cycle 

emf s less because the col sides 
ae cuttng the -fun dat on anqe. 
v)Hositfon s, no magrelic Enes 
ase cut amd hence înduced emf 
3zro a incticaled by Point 5 n g(2) 
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Vi) posiRon G, the col stdes move under a pe o oposle 

Pplastty and hernce he diveclion of qnealed emf nevesed. 

he maumum emf in thts direc-lton (te Yveyse (iveclfor, te 

1a) wl Se when the loop al posi|ton 1 andl xeao ohen al 

Poition 1.This cyce vepeals vith eoch vevohtlon of the cil. 

tlou the De genesatoys ae classisted and exploin n delail 

about the types of De generadors wth a neat skelci. 

Classification of DC qenevatons : 

To types oDc geneatás 
Sepaately ted De qenerators 

a. Self ted De genevaldi 
Separalely eutted De qeneratosThis DC generador has a 

iela mamet incng ohich eritedl ánq a sepauarle Dc 

voltaqe suce (e: batlery 

yAoad 

Amnatne Cment la=lu 
Teminal votage, V- Eq -SaBa 
Tlehic poer develbped. = Eq Ta-VGruh 
fouka de ived to leadl la-TaRa 

TTaRa) 
Vla 



Self- encitee Dc gnerola: Thee oae the qnesart in which 
the -feld wdtrg ts erited ay the ouutput qenexold of the 

The ane o 3 upes- Seies 
. Shunt 
3. Compomd 

Sertes geneat :- a feld ndingomecled ii seies 
wth dhratuue winding then t t caled a Sefes qeneat 

Kse 

matue cwent Ta-Tse =L={ 
Looc Teaminal voltage, V-Eq-1(Ra+ Rse)-Vuah 

Powen develed in axmatue Eala 
PouDe daykvaed to load Elaa (RatRse) 

Saftg1a (Rat R)] 
Shuart qenenatól: a ld winding t connected in aacl4 

geneatd 

sh 

th wtN aumatue winding then t s called Shunt qeneotd Shunt feldcusnt, Tsh-VRoh 
Avmatwe Cwnent la. - Rsk 
lexminal votage, V=tq-aRa-push
Powe developed n aaTatune -tq.la owen delvened to lobad =VL 

thee ane tuwo Ath o-Rela aindingn on eadipole-one. 
3.Compourd enerator - n a compound-wound qenexae 

is n setes andthe othen in panalel with amatuue 
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